Basic Electrical Engineering IAT1 Scheme and Solution
1. a) State and explain Ohm’s law, List out its limitation. @
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1 b) Derive maximum power transfer theorem applied to the series circuit. Mention its

applications@
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2a)  Calculate the loop currents using KVL for the given circuit below?@
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2 b) For the given circuit calculate ny@
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3 a) Find the power dissipated in 16 ohm resistor.
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3 b) For a pure inductor excited by sinusoidal varying AC voltage, show that the average power
consumed by inductor is zero with necessary diagrams and waveforms @
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4 a) For the given circuit , calculate current through all the branches @
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4 b) State and explain Kirchhoff’s Laws, as applied to D.C. Circuit. @
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5 a) Calculate i) Current through each resistor ii) Unknown resistance x? iii) Req. iv) Power consumed.
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6. Derive the RMS, average value, form factor and peak factor for a sinusoidal signal.
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7 a) Find the rms, average and form factor for the given current waveform.
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7 b) An alternating current of frequency 50Hz has a maximum value of 20A.
i) Write down the equation for its instantaneous value
i) Find the value of current after 1/360 second
Find the time taken to reach 9.6A for the first time
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